11

61

431



61

19

3

1.2

Big 4
Non Big 4

41

25 .
.. 46

100

4-2

.46

41

350

41
40
8l

350
250

6l
3

86

%
51%
49%
100%

43

42
3
8l

250

43
3
86

%
5%
43%
100%

48



4-2

51

49

52

48

2.1

81

49

81

Bigd 4

Bigd 40

Big 4 42

Big 4 39



4-3

Big 4
%
Non Big 4
%
%
4-3
60
Big 4
54 18
2.2
4-4
30
Big 4 5
% 12%
Non 1
Big 4 % 18%
12
% 15%

25
60%
2
54%
46
51%

Big 4
17
39

31-40

15

36%

17

44%

32

40%

17
40%
18
46%
35
43%

42

46

4-50

20
48%
10
26%
30
3%

50

42
100%
39
100%
81
100%
81
25
40
21
50
2 42
4% 100%
5 39
12% 100%
1 81

8% 100%



4-4
30 5

36 4 -50

30 /

44 41 - 50

2.3

4-5

Big 4
%

Non
Big 4 %

%

4-5

12
20

18
10

17%
18
46%
25
31%

35

46

Big 4

3 - 40
48

Non Big 4

3 - 40
26

35 0
83% 0%
Al 0
54% 0%
56 0
69% 0%

Big 4
83
Non Big 4
2

15

17

54

50

50

42
100%
39
100%
81
100%

5



24

4-6
Big 4
%
Non Big 4
%
%
4-6
24
Non Big 4

32 82

10 2
24% 76%
1 2
18% 82%
17 64
21% 719%
Big 4
32

42
100%
39
100%
81
100%

10
16



2.5
!
4-7
110 -2  20-30 30
Big 4 il 18 12 1 42
% 26% 43% 29% 2% 100%
Non 12 18 1 2 39
Big 4 % 31% 46% 18% 5% 100%
23 36 19 3 81
% 28% 44% 23% 5% 100%
4-7
Big 4 10- 20 18 43
21 - 30 12 29
10 il 26
30 1
2
Non Big 4 10 - 20
18 46 10
12 3l 21 - 30 7
18 ' 0 ’



b4

4-1
experience
° 7
N
Frequend
experience
4
1 10 =1
2 11-20 =2
3 21-30 =3
4 30 =4

( ean= median = mode = 2)



Big 4

31

29

29

4-8

14

Big 4 Non Big 4

% %
30 31% 22 22%
28 29% 20 20%
5 5% 10 10%
14 14% 28 29%

18 19% 12 12%

2 2% 6 1%
97 100% 98 100%

3l

Non Big 4

22

52
48
15
42

30

195

%%

%
21%
25%

8%
22%

15%

3%
100%



10
L
2
3,
4 (
5% 30
(
32
49
28
% 67%
17
% 44%
45

% 56%

12

0.75%- 5.00%

2.00% - 5.00%
1.00%- 3.00%

10%

%  10%

12 2
29% 4%
13 9
33% 23%
25 il
31% 13%

56
50
13

35

23

42
100%
39
100%
81
100%
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4-9

Big 4
28 67
12 29 Non Big
4 17
44 13
33
3.3
4-10
Big 4 Non Big 4
% % %
L 3l 3% 3B 4% 6 42%
2 8 10% 1 15% 19 12%
3, 10 12% 9 12% 19  12%
4, 34 41% 19 26% 5 3%
XLX2.X3....
83 100% 74 100% 157 100%
4-10 Big 4

XL, X2, X3.... 41



Big 4

Non
Big 4

XL, X2, X3....

Non Big 4
47
34
411
2 12 28
% 5% 29% 66%
3 2 15
% 8% 54% 38%
5 3 43
% 6% 41% 53%
4-11 Big 4
66
29 Non Big 4
b4

38

42
100%
39
100%
81
100%

%
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4
Correlation
2 (Ha) (H-)
(P) -0 '
Py 7~ 0
Significant (Sig) (0) 0.05
41
4-12
Correlations
hl(_li he ent hlnh rent  highi \werent
% ns moderate ik low

_ . contro |sk control ris control risk
hg( inherent Pearson Correlation 386* H69*
igh control risk gg, (2-tailed) 000 000

, 8l 8l 8l
prgl(wjmherent nsr P_earson Correlation 386" 1 B11*
erate control Tisk gg, (2-tailed) 000 000
8l 8l 8l

h hirlherent risk,low P_earson Correlation 569 811* 1

nirol sk Sg. (2-tailed) 000 000

N 81 81 81

**_ Correlation is significant at the 0.01 level (2-taled).



high Inherent Risk =
high Control Risk =
moderate Control Risk =
low Control Risk =

1) 0
(P=0)
H-
(P*0)
r=0886  Sig (2- tailed) =0.00
Hq
0.05
2) 0
(P=)
-| :
(P™0)
r=0569  Sig (2- tailed) = 0.00
Hg

0.05

0.05 (0)

0.05 ()

60



(P=0)
H- .
(o
r=0811
0
0.05
)
2)

Sig (2 - talled) = 0.00

0.05 (0)

0.05



4-13

Correlations
erale . moderate
In ererﬁ Inherent nsk
risk '? (
~ control Tisk  control nsk
erate inher nt Pearson Correlation 903¢
fs |g o0 1k Sig. (2-tailed) 000
N , 8l 8l
erate inhere tnﬁk Pearson Correlation 903 1
moderate control fisk §ig, (2-talled) 000 ‘
N . 8l 8l
erate inheyen Pearson Correlation 667 160"
risk,low control 11s Sig. (2-tailed) 000 000
N 8l 8l
** . Correlation is significant at the 0.01 level (2-talled).
moderate Inherent Risk =
high Control Risk =
moderate Control Risk =
low Control Risk =
1) 0
(p=0)
1:
(P EO)
r=0903  Sig (2- tailed) = 0.00
0

0.05

0.05 (G)

erate

Inherent

risk low
control Tisk
667

000

8l

[60%
000

8l
1

8l



r=0.667

0.05

r =0.811

0.05

Sig (2 - tailed) = 0.00

Sig (2 - tailed) =0.00

005 ()

0.05 ()

63



0.05

414

Correlations
low nRerent
fs ?
. control sk
low |nher?<nt fiskhigh  Pearson Correlation
control s S|g. (2-tailed)
8l
low jnherent ris Pearson Correlation 863
erate control risk Sig. (2-taile) 000
8l
low mherfint risk low P_earson Correlation A3
control ris Sig. (2-tailed) 000
N 8l

** . Correlation is significant at the 0.01 level (2-tailed).

low Inherent Risk =
high Control Risk =
moderate Control Risk =
low Control Risk =

) 0l

(P=0

(p5*0)

Iow inherent

erate

contro rs
36

000

8l
1

8l

075"
000

8l

inherent

low
control risk
; 543+

000

8l

075
000

8l
1

8l

64



r=0.863

0.05

r=0543

0.05

r=0.675

0.05

Sig (2 - tailed) = 0.00

Sig (2 - tailed) = 0.00

Sig (2 - tailed) = 0.00

0.05 Q)

0.05 (0)

0.05 (0)

65



2 IS 2 T SO T NCRRTN

4-15

3.83 2.96
3.33 2.32
2.11 181

0-30
3- 60
61- 90
9a- 120
121- 150
150

3831333 277

66

0.05

2.09
1.65
133
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4-16
Correlations
. MSL  MSS2  MSS3
MISSL  Pearson Correlation 1 061* D99
Sig. (2-tailed) 000 000
N _ 8l ) 8l
MISS2  Pearson Correlation 661* 1 802
Sig. (2ailed) 000 000
N ¢ n I

MISS3  Pearson Correlation S99 RV 1
Sig. (2alled) 000 000 |
N 8l N 81

* Correlation is significant at the 0.01 level (2-tailed).

Miss 1=
Miss 2 =
Miss 3 =

r=0661  Sig (2- tailed) = 0.00

0.05

0.05 ()

67

(p 70)



r=0661  Sig (2- tailed) = 0.00

0
0.05
)
2)
0.05
417
173
231
2.58
417

173

231 258

68

(P 7*0)
0.05 (Q

1.063
1.462
1448



4.3

4-18
Correlations
. TIMEL TIME2 . TIME3
TIMEL  Pearson Correlation 1 862 164
Sg. (2-tailed) 000 000
N . 8l 8l 8l
TIME2  Pearson Correlation 862* 1 9ol*
Sg. (2-tailed) 000 | 000
N 8l 8l 8l

TIME3  Pearson Correlation 164* %111 1
Sg. (2-tailed) 000 000
N 8l 8l 8l
** . Correlation is significant at the 0.01 level (2-tailed).

Time 1=
Time 2 =
Time 3 =

(Pt 0)
r=0862  Sig(2- tailed) =0.00

0.05

0.05 ()

69



(P=0)
1:
(P ™0)
=0.951 Sig (2 - tailed) = 0.00
0
0.05
)
2)
0.05
4-19
1.94
2.68
2.98
4-19
2.68

1.94

0.05 (0)

1.187
1272
1422

2.98

10



44

4-20
Correlations
. SYSTEML  SYSTEM2
SYSTEML  Pearson Correlation 1 862¢
Sg. (2-tailed) 000
N _ 8l 8l
SYSTEM2  Pearson Correlation 862* 1
Sig. (2-tailed) 000
N 8l 8l
**, Correlation is significant at the 0.01 level
System 1=
System 2 =
0 :
(p=0)
(P"0)
r=0862  Sig (2- tailed) =0.00
0 0.05

0.05

0.05 (0)

1



4-21

2.07 1.222
2.98 1.710
421
07
2.98
45
4-22
Correlations
. PoUCYL  POLICY2
POLICYL  Pearson Correlation 1 106*
Sg. (2-taled) 000
N , 8l 8l
POLICY2  Pearson Correlation 106 1
Sg. (2-tailed) 000
N 8l 8l
** . Correlation is significant at the 0.01 level
Policy 1=
Policy 2 =
Hg :
(P=0)
H_ .

(P 70)



r=0706  Sig (2- tailed) = 0.00

0 0.05
0.05
4-23
2.00
2.48
4-23
2.00
248
4.6
4-24
Correlations
- . administratorl ~ administrator
administratorl  Pearson-Correlation 1 155
Sig. (2-tailed) 000
. N . 8l 8l
administrator  Pearson Correlation 155¢ 1
Sg. (2-tailed) 000
N 8l 8l

* Correlation is significant at the 0.01 level (2-tailed).

administrator 1 =
administrator 2 =

0.05 (G)

1.140
1459

3



(p=0)
H-
(P"0)
r=075  Sig (2- tailed) =0.00
Hq 0.05

0.05

4-25

1.89
2.21

4-25
1.89
2.21

74

0.05 (0)

1.140
1.285



4-26
/
Correlations
. CLIENT'  CLIENT2
CLIENTL  Pearson Correlation 1 829*
Sg. (2alled) 000
N , 8l 8l
CLIENT2  Pearson Correlation 8= 1
Sg. (2-tailed) 000
N 8l 8l
**_ Correlation is significant at the 0.01 level
Client 1= ( )
Client2 = ( )
0:
(p=0)
H
(P 9+0)
r=0829  Sig (2- tailed) = 0.00 0.05 ()
0 0.05
0.05
4-21 /
2.18 1.022

2.17 1.638



4-21

2.18 ( )
2.11 /
4.8
4-28
Correlations
. RATIOL  RATI02  RATIO3
RATIO1  Pearson Correlation 1 829" 833"
Sg. (2-tailed) 000 000
N _ 8l 8l 8l
RATIO2  Pearson Correlation 820 1 [55*
Sg. (2-tailed) 000 | 000
N 8l 8l 8l

RATIO3  Pearson Correlation 333 151 1
Sg. (2-tailed) 000 000

N 8l 8l 8l
% Correlation is significant at the 0.01 level (2-tailed).

Ratio 1=
Ratio 2 =
Ratio 3 =
1) 0
(P=0)
1:
(P 0)
r=0.829 Sig (2 - tailed) = 0.00 0.05 (0)
0

0.05

16



0.05

r=0755  Sig (2- tailed) = 0.00

4-29

2.56
L
2.17

4-29

(p=0)

(P0)

0.05 (G)

0.05

1.155
1.012
1.638

L

1



4.9

4-30
Correlations
QoSTL - COST2 - COST3
COSTL  Pearson Correlation 1 706 854
Sg. (2-tailed) 000 000
N . 8l 8l 8
COST2 - Pearson Correlation 706* 1 805*
Sg. (2-tailed) 000 000
N . 8l 8l 8l
COST3  Pearson Correlation o4 805 1
Sg. (2alled) 000 000
N 8l 8l 8l
*e_Correlation is significant at the 0.01 level (2-talled).
Cost 1=
Cost2 =
Cost 3=
1) Hq
(P=)
H
(P~0)
=0706  Sig (2- tailed) = 0.00
Hq

0.05

0.05 (G)

Xi

8



19

(P=0)
|-|-
?
(p*0)
=0805  Sig (2- taled) = 0.00 0.05 (0)
0
0.05
1)
2)
0.05
431
189 1.095
233 1.204
2,65 1569
431
233

2.65 1.89



4-32
Correlations
_ . transaction| transaction2 transactions
transaction]  Pearson Correlation 1 Y7 913
Sg. (2-tailed) 000 000
. N , 8l 8l 8l
fransaction?  Pearson Correlation 94T 1 950*
Sg. (2-tailed) 000 000
_ N , 8l 8l 8l
fransactions  Pearson Correlation 193 050" 1
Sg. (2ailed) 000 000
N 8l 8l 8l
** . Correlation is significant at the 0.01 leve! (2-tailed).
fransaction 1=
transaction 2 =
transaction 3 =
1) 0
(P=0)
1
(P™0)
r=0947  Sig (2- tailed) = 0.00 0.05 (0)
0

0.05

80



8l

(P=0)
(P 7+0)
r=0950  Sig (2- tailed) = 0.0 0.05 (G)
0
0.05
)
)
0.05
433
2.09 1.19%
226 1.282
2,58 1465

4-33
2.33
2.09 2.58



82

411 oftware

4-34 Software

Correlations

ﬁl\;\(/jit odlit
_ . softwarel  software2
audit softwarel ~ Pearson Correlation 1 A98*

Sig. (2-tailed) . 000
. N , 8l 8l
aodit software?  Pearson Correlation 498 1
Sg. (2-taled) 000
N 8l 8l
*e Correlation is significant at the 0.01 level (2-taled).
Audit Software 1= Audit Software
Audit Software 2= Audit Software
Audit Software
Audit Software (p =0
H- Audit Software
Audit Software (P~ Q)
r=0498  Sig (2 - tailed) = 0.00 0.05 (Q)

0 0.05

Audit Software
Audit  Software
0.05 Audit Software



4-35 Software

Software
Audit Software 2.36 1.452
Audit Software 2.47 1.492
4-35 Audit Software
2.36 Audit Software
247 Software
412
4-36
Correlations
~ (COVPANYL  COVPANY2
COVPANY1  Pearson Correlation 1 918
Sig. (2ailed) 000
N _ 8l 8l
COMPANY2 - Pearson Correlation 918 1
Sig. (2-tailed) 000
N 8l 8l

**_ Correlation is significant at the 0.01 level (2-tailed).

Company 1=
Company 2 =

(p"0)



0.05

r=0918
0.05

4-31

4-31

Sig (2 - tailed) = 0.00

2.56
2.07

2.56
2.07

005 (Q)

1.458
1.207

84



4 NonBig4
Asymp.Sig (2-sided)
0.05
51
4-38
Big 4
%
Non Big
4 %

%

85

Big
Chi square
2 2
2
(0)
2 40 42
5% 95% 100%
7 32 39
18% 82% 100%
9 2 8l

11% 89% 100%



Big 4

40 95 Non Big 4 32
82
4
Chi-Square Tests
0 BxactSg  Bxact Sg
_ Value of S dea()q 2-sided) (1
Pearson Chi-Square 3.560b 1 w 059 %X (% %X e(%
Continuty Correction3 2,350 1 125
Likelinood Ratio 3722 1 054
Fisher's Exact Test 081 061
ey Linea 3516 1
Nof Vlid Cases 8l
a. Computed only for a 2x2 table

b % %eg% (50.0%) have expected count less than 5. The minimum expected count

86



H
Continuity Correction
Continuity Correction = 2.350 Asym.Sig  (Asymptotic
Significance) (2-sided) = 0.125
0.05
5.2
4-40
Big 4 ! 3 42
% 17% 83% 100%
Non Big 20 19 39
4 % 51% 49% 100%
21 54 81
% 33% 67% 100%
4-40
Big 4 83 Non Big 4

49



88

4

Chi-Square Tests

e d %e% sy Padss

01
Continuity Correction3 9402 1 002

Pearson Chi-Square 10.904b
Likelihood Ratio 11228 1 001
Fisher's Exact Test 002 001
peatyliea 19769 1
Nof Vlid Cases 8l
a. Computed only for a 2x2 table

b ({ 3?8'(%3 (.0%) have expected count lessthan 5. The minimum expected count is

Hg
1
Continuity Correction
Continuity ~ Correction = 9.402 Asym.Sig  (Asymptotic
Significance) (2-sided) = 0.002

0.05



5.3

4-42

Big 4
%
Non Big
4 %

%

4-42
Non Big 4

A
50%
28
2%
49
60%

Big 4
28

pl
50%

28%

32
40%

50

42
100%
39
100%
8l
100%

89



90

4-43

Chi-Square Tests

90 BractSg  ExactSg
Value df o i%—s’de 2-side 1-side
Pearson Chi-Square 40190 1 (gjs Ff( (ﬂ %X (%
Continuity Correction3 3,159 1 076
Likelihood Retio 4,070 1 044
Fisher's Exact Test 063 037
ey Linea 3970 1M
N of Vialidl Cases 81
a. Computed only for a 242 table

b QSCEIF (.0%) have expected count lessthan 5. The minimum expected count is

Hg :
1
Continuity Correction
Continuity - Correction = 3.159 Asym.Sig  (Asymptotic
Significance) (2-sided) = 0.076
0.05 Pearson Chi-Square
Sig = 0.045
Big 4

Big 4



54

Big 4

Non Big

444
T

0% 17%
2

0% 5606
2

0% 36%

444

Non Big 4

35
83%
17
44%
52
64%

Big 4
44

42
100%
39
100%
8l
100%

a1

83
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4-45

Chi-Squa're Tests

o D Y
000
000

, Value
Pearson Chi-Square 138970

Continuity Correction3 ~ 12.222 1

Likelihood Ratio 14.3%8 1 .

Fisher's Exact Test 000 000
pricahts LV 1 0

Nof Valid Cases 8l

a. Computed only for a 2x2 table
b ({ 308%3 (.0%) have expected count less than 5. The minimum expected count is

Hg :
Continuity Correction
Continuity Correction = 12.222 Asym.Sig  (Asymptotic
Significance) (2-sided) = 0.000

0.05
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4-46

Big 4
%
Non Big

%

Non Big 4

5%

15%

10%

Big 4
33

40
95%
3
85%
13
90%

40
85

42
100%
39
100%
8l
100%

95
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4-47

Chi-Square Tests

Vae  df ¢ %ﬁfw ey R

Pearson Chi-Square 2.5640 1

Continuity Correctiond 1,509 1 219
Likelinood Ratio 264 1 103
Fisher's Exact Test 146 109
e yLineat 253 1
N of Valid Cases 8l
a. Computed only for a 2x2 table

b % %elég (50.0%) have expected count less than 5. The minimum expected count

Hg :
H-
4-47 Continuity Correction = 1.509 Asym.Sig
(Asymptotic Significance) (2-sided) = 0.219

0.05



56
4-48

Big 4
%
Non Big
4 %

%

Non Big 4

5%

15%

10%

Big 4
85

40
95%
33
85%
13
90%

95

42
100%
39
100%
8l
100%

95



9

4-49

Chi-Square Tests

A A

Pearson Chi-Square 2 564b

Continuity Correction3 1509 219
Ukelihood Ratio 2,654 1 103
Bsher Sfo ExSct Test 146 109

near-hy-Unear

Rzt 2532 1 12

N of VaJ|d Cases 8l

a. Computed only for a 2x2 table

b % %eg% (50.0%) have expected count lessthan 5. The minimum expected count
Hq
4-49 Continuity Correction = 1.509 Asym.Sig
(Asymptotic Significance) (2-sided) = 0.219

0.05



5.1

Big 4

Non Big

4-50
16
% 38%
28
% 2%
44
% 54%
4-50

Non Big 4

26
62%

28%
31
46%

Big 4
28

9

42
100%
39
100%
8l
100%

62



9%

4-51

Chi-Square Tests

0 Exact Sg ct S
Value df as'd% 2-sid 1-sid
Pearson Chi-Square 9.2550 1 002 ( e(% %Xa e(%
Continuity Correction3 ~ 7.947 1 006
Likelihood Retio 9.463 1 002
Fisher's Exact Test 004 002
fleary Lea 9,141 1w
N of Vialidl Cases 8l
a. Computed only for a 2x2 table

b (i %IF (.0%) have expected count less than 5. The minimum expected count is

0
H-
Continuity Correction
Continuity - Correction = 7.947 Asym.Sig  (Asymptotic
Significance) (2-sided) = 0.005

0.05
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4-52

Big 4
%
Non Big

%

38
9

V1

10%

21%

2
15%

90

38
90%
a
79%
69
85%

Big 4
Non Big 4

42
100%
39
100%
8l
100%

a

99



100

4.53
Chi-Square Tests
S iS¢ Bxact Sg.
Value df o &s'de(?g 2-Sde 1-Sidle
Pearson Chi-Sqare 1.9350 1 164 %Xa (ﬁ %X (ﬂ
Continutty Correction3 1162 1 281
Likelihood Ratio 1,959 1 162
Fisher's Exact Test 216 141
heartyLineat 1901 18
N of Valid Cases 8l
a. Computed only for a 2x2 table

b g%lls (.0%) have expected count less than 5. The minimum expected count is

0 :
H-:
Continuity Correction
Continuity - Correction = 1.162 Asym.Sig  (Asymptotic
Significance) (2-sided) = 0.281

0.05
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4-54

Big 4
%
Non Big

%

22
36

20
48%
25
64%
45
56%

52

du

22
52%
14
36%
36
44%

Big 4
Non Big 4

42
100%
39
100%
8l
100%

14



4-55

Chi-Square Tests

" Aars”%% i RO

_ Value
Pearson Chi-Souare 2.2290

Continuity Correction3 1,608 1 205
Likelihood Retio 2238 1 135
Fisher's Exact Test 180 102
e e 2198 1 1B
N of Valid Cases 8l
a. Computed only for a 2x2 table

b %c%s (.0%) have expected count less than 5. The minimum expected count is

0 :
1
Continuity Correction
1 Continuity - Correction = 1.608 Asym.Sig  (Asymptotic
Significance) (2-sided) = 0.205

0.05



510

4-56

Big 4
%
Non Big

%

14
38

28
6/%
24
62%
52
64%

3

14
33%
15
38%
29
36%

Big 4
Non Big 4

103

42
100%
39
100%
8l
100%

15
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4-57

Chi-Square Tests

0 BxactSg  Bxact Sg.
Val df * a Vd% 2-id 1-sicl
Pearson Chi-Square l:ezalb 1 ; 031 %XSI e(ﬂ %XSI E(%
Continuity Correction3 062 1 803

Likelihood Ratio 2l 1 i
Esher‘sbaﬁd Test 051 A01
inear-hy-Linear
Agsoda%n 29 1 [i%¢]
N of Valid Cases 8l
a. Computed only for a 2x2 table

b %308%3 (.0%) have expected count less than 5. The minimum expected count is

HO
Hj:
Continuity  Correction
Continuity - Correction = 0.062 Asym.Sig  (Asymptotic
Significance) (2-sided) = 0.803

0.05



17

511

Big 4
%
Non Big

%

12

4-58

44

V)

30 12 49
71% 29% 100%
22 17 29
56% 44% 100%
52 29 81
64% 36% 100%

Big 4
29 Non Big 4

105



4-59

Chi-Square Tests

0 BxactSg  Bxact Sg.
Value df * a-slde 2-sided]  (1-side
Pearson Chi-Square 1.984b 1 %& %X (% %X Og
Continuity Correction3 1,385 1 239
Likelinood Ratio 1991 1 158
Fisher's Exact Test 173 120
ey Lineas 190 1w
N of Vialidl Cases 8l
a. Computed only for a 2x2 table

b ({ 3,(38'('35 (.0%) have expected count lessthan 5. The minimum expected count is

0
1
Continuity Correction
Continuty Correction = 1.385 Asym.Sig  (Asymptotic
Significance) (2-sided) = 0.239

0.05
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4-60
Big 4 4
% 10%
Non Big 4
4 % 10%
8
% 10%

90 Non Big 4

38
90%
35
90%
13
90%

Big 4
90

107

42
100%
39
100%
8l
100%
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4-61

Chi-Square Tests

30 ExactSg  ExactSg.
Value df * -sl%le(f 2-Si0 1-Side
Pearson Chi-Square 1 b 1 Aam 912 %X e(% %X (ﬂ
Continuity Correction3 000 1 1.000
Ukelihood Ratio 012 1 2
Fisher's Exact Test 1,000 601
AL nea o 1
N of Vialidl Cases 8l
a. Computed only for a 2x2 table

b % %egg (50.0%) have expected count less than 5. The minimum expected count

0:
H
461 Continuity Correction = 0.000 Asym.Sig
(Asymptotic Significance) (2-sided) = 1.000

0.05
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4-62

Big 4
%
Non Big

%

Non Big 4

2 40
5% 95%
7 RY)
18% 82%
9 [
11% 89%
Big 4

82

109

42
100%
39
100%
8l
100%

9%
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4-63
Chi-Square Tests
CtS ¢t Sig
a 'd% sded] (s
Pearson Chi-Square 3560b %X (ﬂ %Xa E(%
Continuity Correction3 ~ 2.350
Likelihood Ratio 3722 1 054
Fisher's Exact Test 081 061
ey Liea 3516 1
N of Valid Cases 8l
a. Computed only for a 2x2 table

b % (L:leg% (50.0%) have expected count less than 5. The minimum expected count

Hqg :
H
4-63 Continuity Correction = 2.350 Asym.Sig
(Asymptotic Significance) (2-sided) = 0.125

0.05
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4-64
Big 4 10
% 24%
Non Big 15
4 % 38%
25
% 31%
4-64

Non Big 4

62

32
76%
24
62%
56
69%

Big 4

42
100%
39
100%
8l
100%

76
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4-65

Chi-Square Tests

Aa' P act
Pearson Chi-Souare s deﬁég %X deﬂ% %Xsm%
Continuity Correction3 1406

Likelihood Ratio 2.042 1 153
Elsher sb Ex[act Test 229 118
inear-by-Linear
s 2009 1 15
N of Valld Cases 8l
a Computed only for a 2x2 table

b 920895 (.0%) have expected count less than 5. The minimum expected count is

HO
H:
4-65 Continuity Correction = 1.406 Asym.Sig
(Asymptotic Significance) (2-sided) = 0.236

0.05
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Big 4

Big 4 Big 4
Big 4 Big 4
4-66

1 100% 0%
2 100% 0%
3 100% 0%
4, 100% 0%
5. 100% 0%
6. 100% 0%
7 100% 0%
8. 100% 0%
9, 100% 0%
10, 29% 71%

11. 41% 59%



12.
13
14

Big 4

82%
88%
82%

Big 4

114

18%
12%
18%
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